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1. wormtammsrsso,

r+y=-9 r=2q
(1) (2)

m+n=0 r+2y=0
(3) (4)

m = 5n — 30 r=2y—4

—4r+y=—6 —4p+qg=—06
(5) (6)

y =2z q=-p+9

— 13th-note —
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r+2y=38 @) 13z — 9y = 106
Tr — 10y = —40 10z + 3y = 22
3s+2t =12 Ta + 5b = —bH5
(4)

2s+t =28 ba+b=-29
a+2b=0 —a+b=26

) (6)
Sa+b=-27 3a+2b= -3

— 13th-note —
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3. kormEtaEE s,

p+qg=>5 —3a + 4b = —26
(1) (2)

2p+3q =14 a+ 6b = —28

6a + 2b = —8 —3m —5n =15

(4)

ba — 21b = 84 —2m —14n =74

—10m +2n =34 ©) Tr —3y =11

—™m+9n = 39 —5x + 4y = —6

— 13th-note —
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1.

ROBGREAERE T2 E 0N,
z+y=-9
(1) {
r=y+3
(z, y) = (-3,

m+n=>0
(3)
m = 5n — 30

(m, n) = (-5,

—4r +y=—6
(5) {
y =2

(z, y) = (3, 6)

- E3i 1 RAERX 0103-1 -

£ (
o) {’"_2q
4q +r =12
_6) (Q9 ’I“) — (27 4)
Y {x+2y—0
r=2y—4
5) (wa y) — (_29 1)

m){@+q—6

(p, q) = (3, 6)

— 13th-note —
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N {m+2y8 o) {13x9y106
Tr — 10y = —40 10z + 3y = 22
(z, y) = (0, 4) (z, y) = (4, —6)
{38+2t12 {7a+5b55
3 (4)
2%+t =8 Ba 4+ b= —29
(37 t) — (47 O) (a'v b) — (_57 _4)
. {a+2b0 . {—a—l—bG
Sa + b= —27 3a+2b= -3
(a, b) = (—6, 3) (a, b) = (=3, 3)

— 13th-note —
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3. kormEtaEE s,

(1) p+q=>5 @) —3a + 4b = —26
2% + 3q = 14 a+6b=—28
(p, q) = (1, 4) (a, b) = (2, —5)
6a + 2b = —8 —3m —5n =15
3) { (4) {
Ha — 21b = 84 —2m — 14dn =74
(a, b) = (0, —4) (m, n) = (5, —6)
(5) —10m + 2n = 34 (6) Tr —3y =11
—7m + 9n = 39 -5z + 4y = —6
(m, n) = (-3, 2) (z, y) = (2, 1)

— 13th-note —



